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Lashkova Company had accounts reccivable of $100,000 on Janunary 1, 2018. The only transactions that
affected accounts receivable during 2018 were net credit sales of $1,125,000, cash collections of
$980,000, and accounts written off of $95,000. One year equals to 360 days.
Instructions
1. Compute the ending balance of accounts receivable in 2018.

Compute the accounts receivable turnover ratio for 2018.

2
3.  Compute the average collection period in days for 2018,
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(10% ) = ~ On April 30, the bank reconciliation of Baxter Company shows three outstanding

checks: no. 354, $650, no. 355, $820, and no. 357, $655. The May bank statement and the May
cash payments journal show the following.

Bank btdtcmmt “ Cash l’ay—mcnt;;‘“,j'()u;nall |
Checks Paid Checks Issued
Date Check Amount Date Check No. Amount
5/4 354 650 5/2 358 159
5/2 355 820 5/5 359 275
5/17 358 159 5/10 360 890
5/12 359 275 5/15 361 1950
5/20 360 890 5/22 362 750
5/29 363 480 5/24 363 480
5/30 362 750 5/29 364 740

Instructions:
What is amount of the outstanding checks at May 31 7
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(15% ) % ~Natal Company has an inexperienced accountant, During the first 2 weeks on the
job, the accountant made the following errors in journalizing transactions. All entries were
posted as made,

1. A payment on account of $840 to a creditor was debited to Accounts payable $480 and
credited to Cash $480.

2. The purchase of supplies on account for $380 was debited to Equipment $38 and credited
to Accounts payable $38.

3. A 8500 cash dividend was debited to Salaries and Wages Expense $500 and credited to
Cash $500.

Instructions:
Preparel.2.3 the correcting entries.
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The adjusted trial normal balance of Apple Corporation for the year ended 12/31 2015, are
as follows.

Compute (1)the amount of gross profit (2)income from operations (3)net income

Accounts Receivable | 11,100 | | Inventory | 29000
Sales Returns and Allowancé; M 6,700 Prepaid Insurance - 2,500
Expense
Cash 14,500 | | Equipment 95,000
Sales Discounts 5,000 | "Cost of Goods Sol('iwt__ - 363,400
Freight out 7,600 | | Advertising Expense 12,000
Sales Revenue 536,800 | | Dividends 12,000
Interest Revenue 2,500 | | Utilities Expense 18,000
mgzﬁllaries Expense 56,000 - ”“Unearned Rent 2‘5,()0() B
Revenue
Retained Earnings 31,000 | | Depreciation Expense | 9,000
M‘chountswl?ayable - | ' 1.0:660 ”In‘surancc Expcnsg_w ] ﬂ4,5:()'()y
Accumulatcd o w 18,()60 Interest KExpense I '%,6(]()
Depreciation-Equipment
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